Install Instructions

PRP Seats
Textron Wildcat XX
Door Bag Installation

Parts
Read through all of the instructions completely before

beginning the install.

Parts Included:

A. 2, PRP Wilcat XX Door Bags (R&L)

B. 4, M6 x 1.0 x 30mm - 3/16” Allen Head Bolt
C. 4, #12 x 1.25” Phillips Head Screw (Larger)
D. 2, #12 x 1” Phillips Head Screw (Smaller)

E. 10, 1/4” Washers

Remove all parts from the box and unwrap completely using
the packaging to lay out the pieces.

Tools Needed: (not included)
T-30 Torx Socket

E. E.
ooooo ooooo 3/16" Allen Head Wrench or Socket
' ‘ l ‘ I I 'I l I Phillips Head Screwdriver
D. C. B. c. B.

D. Time:

Approx 10 minutes.

e 2IRP



Install Instructions for PRP Seats Textron Wildcat XX Door Bag

P | 1. Remove the stock bolts from the door
. (shown in picture).

Use a T-30 Socket to remove the 2 top
bolts in the center of the door, and 3
bolts in the recessed area of the door.

2. Once the bolts are removed, selected the
appropriate door bag for the door you
are installing on (R or L).

Take the Knee pad section, depress it,
and push it through the gap between the
door and grab handle tube.

3. Use our supplied hardware to attach the
bag to the door.

Line up the two Ktex strips on the top

of the bag to the two bolt holes in the
top of the door. Then install the supplied
(2x) 3/16” Allen Head Bolts with (2x) 74"
Washers in this location.

4. Unzip the door bag, and line up the two
guide holes inside the back of the bag with
the corresponding bolt locations on the
door.

In the lower-rear bolt hole - install (1x) of
the supplied 1” Phillips Head (Smaller)
Screw with (1x) 42" Washers.

NOTE: Make sure that you install the smaller

1" size screw in this location. The longer 1.25"
screw will puncture through the door!

e 2IRP




Install Instructions for PRP Seats Textron Wildcat XX Door Bag

3/16” ALLEN HEAD BOLT 3/16” ALLEN HEAD BOLT

\ 1.25” SCREW

1.25” SCREW

1” SCREW

. Then in the upper-front bolt hole inside

the bag, install the supplied (1x) 1.25"
Phillips Head (Larger) with (1x) 74"
Washers.

. On the back of the bag is an adhesive

hook and loop strip that provides extra
support. Remove the backing , and stick
the adhesive to the door firmly.

. For the Knee pad section, seperate the

pad from the Ktex backing (Pull apart
the Velcro). Line up the guide hole in the
Ktex with the bolt hole in the door. Then
install the supplied (1x) 1.25” Phillips
Head (Larger) with (1x) 2" Washers.

. Do the same steps for the bag on the other

side... and you're all set!

If you have any questions or experience
issues, please contact your retail outlet first
for assistance. However, the staff at PRP is
always happy to help at 1-800-317-6253.

Thank you! Ride Safe!

e 2IRP



